  THREAD: PUBLIC AWARENESS

THEME: ENVIRONMENTAL EDUCATION

TOPIC: ENERGY CONSERVATION

Suggested Lead-in Task: 20 min.

Aim: To activate students’ schemata regarding the content as well as the language likely to be used in that context.

Procedure:

1. Put students into groups of 4 or 5 and give each group one news extract.Appendix 1
2. Get ss to work on their news extracts and identify the environmental problem and the solution (if stated) in each and to fill in the grid provided (on coloured cardboard, if desired)

3. Get groups to blue tack their grids (locking each row with the next one) and build up the whole grid on bb.

4. Get ss to discuss what other factors can contribute to such environmental problems as floods and elicit from students the such words/phrases as erosion, climate, geography, soil composition, which are likely to appear in the reading text they are going to read. 

	Extract
	Factors leading

up to the problem
	            Problem 
	            Solution

	A
	Widespread

clearcutting
	Flood and landslides
	                 X

	B
	Logging activities
	(disastrous) floods
	Replanting all cleared areas

(as a long-term solution)

	C
	     Droughts

           X
	Water shortage

Floods and Drought

(leading up to water shortage)
	                 X

	D
	Illegal exploitation 

of forests
	Loss of pristine forests
	                X

	E
	          X


	Disappearing Rainforests
	Allocating money for 

Conservation and 

Environmental programs


STEP 1. READING: Effects of Erosion by Christoher WILDIG (2,5 hrs.) Appendix 2
Pre-reading Task: (10 min.)

Aims: 1. To enable ss to make predictions about what they are going to read

2. To facilitate comprehension of key vocabulary that appears in the text and to create opportunity for vocabulary pre-teaching (if necessary)

     Procedure:
1. Write on the bb the following and ask ss to make predictions as to under which topics    these vocabulary items are likely to appear.

Instructor’s note: paragraph numbers written for the following while-reading task!!

	Definition of the issue  p. 1-2

The causes and results of erosion and desertification  p.3

Future implicatons of erosion in Turkey  p.4

The impacts of erosion on Turkish economy p. 5-8
Efforts in general to solve the problem

 p. 9-10

Measures taken in Turkey to fight erosion . p.11-13

	· soil turning to dust

· an insidious creeping monster

· domestic migration

· deforestation

· depletion of topsoil through abuse and misuse

· increasing public awareness

· conserving natural resources

· drops in per capita income

· TEMA


While-Reading Task:

Aims: To enable ss to

     1.  skim and scan the text to confirm or disconfirm their predictions

2. understand key ideas in a text,

3. recognize the relationships between ideas in the text

4. transfer information obtained from the text into graphic representation,

5. decode simple, compound and complex sentences in order to extract meaning,

6. recognize causal relationships mentioned in the text,

7. skim the text to get the gist,

8. scan the text to locate speccific information

Procedure:

1. Get ss to skim the text and determine 

a. the paragraphs relevant to each topic written on bb

b. the paragraphs in which the previously discussed vocabulary items appear

2. Get ss to read the text in detail in order to be able to fill in the following 3 grids using the information given. (45 min.)

GRID 1: Paras.3-5      (Instructor’s copy)

	CAUSES OF EROSION/DEFORESTATION
	RESULTS OF EROSION/DEFORESTATION

	ENVIRONMENTAL DEGRADATION
	

	* Overgrazing

* Over-cultivation

* Poor irrigation

* Population growth/ urbanization

* Increasing socio-economic pressures

* Methods used in agriculture and industry


	· damage in fragile top-soil structures

                         ↓

· destruction of the food producing capacity of ground
                         ↓

· severe drops in per capita income

                         ↓

· slow national growth


GRID 1: Paras. 3-5 (Student’s copy)

	CAUSES OF EROSION/DEFORESTATION
	RESULTS OF EROSION/DEFORESTATION

	ENVIRONMENTAL DEGRADATION
	

	* Overgrazing

* ___________________________

* ___________________________

* Population growth/ urbanization

* ___________________________

*_____________________________


	· damage in fragile top-soil structures

                         ↓

· _________________________________________
                         ↓

· _________________________________________

                         ↓

· slow national growth


GRID 2: Paras. 6-8        Instructor’s Copy

OVERALL VIEW IN TURKEY AS REGARDS NATURAL RESOURCES AND SOCIAL FACTORS
	        PAST
	CHANGES OVER YEARS
	    PRESENT

	· was among the few countries in the world that were self-sufficient

· natural fish supplies seemed unlimited

· basic food production was not a matter of serious concern

· there was no sign of erosion
	· agrarian policies have changed
· wheat production has dropped 40% per capita

· soil food production capability has dropped
· domestic migration has reached huge proprotions
	· has to import a wide varity of foods

· (cities are grinding to a halt with) services seriously overburdened

· reservoirs and hydroelectric power facilities are blocked by top-soil run-off

· natural soil water retention capability  is very low


· Please note that any other answer that does not appear in the grid but comes to the same effect are acceptable.

                                   Student’s Copy

OVERALL VIEW IN TURKEY AS REGARDS NATURAL RESOURCES AND SOCIAL FACTORS
	        PAST
	CHANGES OVER YEARS
	    PRESENT

	· was among the few countries in the world that were self-sufficient

· ___________________

______________________

· ___________________

______________________

· there was no sign of erosion
	· __________________

_____________________

· __________________

_____________________

· __________________
_____________________
· domestic migration has reached huge proprotions
	· _________________
____________________
· (cities are grinding to a halt with) services seriously overburdened

· ________________

 ___________________

____________________

· natural soil water retention capability  is very low


GRID 3: Paras. 10-13

TURKEY'S EFFORTS TO COMBAT DESERTIFICATION

                        1                                                2                                                3

	Adopted the UN convention 

To combat desertification
	Increased public awareness (using slogans)
	Set up TEMA, which aims to 

* combat the causes

   leading to erosion

* educate the public

* apply pressure to

   governmental bodies

   (to formulate workable  

   programs &policies to  

   improve the environment 

* integrate the management 

   of land  resources 

* introduce land    

   rehabilitation methods& 

   sustainable   

   agricultural projects 

* observe closely industrial 

   encroachments 

* conserve natural resources 

   (through joining forces    

    with GAP project)


4. After ss finish working on grid filling tasks, refer ss back to the related paragraphs and draw attention to the language structures below: Then, get them to generate sentences for the mini tasks. (30 min.)
TARGETING LANGUAGE 1: EXPRESSING CHANGE using present perfect tense

e.g. Domestic migration has reached such huge proportions that.....................


 Natural soil retention capability has dropped alarmingly...............


Wheat production has dropped 40% per capita over the past decade.

MINI TASK: Using the information given in the text, write sentences on the changes that have taken place over the past decade in Turkey.

TARGETİNG LANGUAGE 2: ATTACHING EMPHASIS using cleft sentences

e.g.
* It is for that very reason that TEMA has set up a new deal with the GAP  administration to conserve natural resoruces.

* It was once the proud boast of Turkay that it was numbered among the few countries in the world that were self sufficient.

MINI TASK: Rewrite the following sentences taken from the text emphasizing the underlined.

1.
Rural and agricultural based economies are thus finding it even more difficult to survive.


It is rural and agricultural based economies that find it even more difficult to survive.

2.
Governments often resort using the military solution to supress the social unrest.


It is the military solution that governments use to suppress the social unrest. OR

What governments do is to use the military solution to suppress the social unrest.

3.
The success of GAP efforts to restore the balance of nature can be seen in the fresh green mantle covering the once dusty plains of Harran.

It is the success of GAP efforts to restore the balance of nature that can be seen in the fresh green mantle covering ……………. OR

It is in the fresh green mantle that the success of GAP efforts to restore the balance of nature can be seen. OR

It is the fresh green mantle where the success of GAP efforts to……… can be seen.

5.  Assign ss the grammar practice handout, and check it in class the next day. Appendix 3 (checking time: 15 min.)
STEP 2: WRITING ‘The Problem SolutionEssay’ (4 hrs) Appendix 4
Aims: 1.  To familiarize students with 

a. the basics of problem solution essay

b. the features of the thesis statement

c. the features of the body paragraphs

d. the features of the concluding paragraph

2.  To enable ss to 

a. write the body paragraphs of an essay the introduction of which is given

b. write the concluding paragraph of an essay the introduction of which is given

c.   gather information from different sources and use it as support in body paragraphs

Procedure:

1. Transition (from Step 1 to step 2) via skills: (10 min.)

a. Refer ss back to the reading text in Step 1 and ask them what the problem stated in the  first paragraphs was. (Erosion /Desertification)

b.  Ask ss what solutions were mentioned in the text to combat erosion? (Military solution, efforts to deal with the results of bad environmental management, setting up non-governmental organizations , raising public awareness, educating the public)
c. Which of these solutions does the writer favour? (raising public awareness) (Establishing the link with the thread : PUBLIC AWARENESS)

d. How can we understand this? ( The writer first mentions the solution he does not think will be effective enough to overcome the problem, and gives the solution he favours next.) 

2. Get ss to read the essay in ‘The Problem Solution Essay Handout’ and answer the following awareness raising questions.(20 min.)

3. Get ss to form pairs and peer edit each other’s work.

4. Go over the answers. 

5. Do the rest of the handout. 

STEP 4: LISTENING NOTE-TAKING ‘Which Way Will It Go?’  Appendix 5  (3 hrs.)

Aims: To enable ss to

1. identify main ideas,

2. recognize signal words to oganize their notes,

3. differentiate supporting details from main ideas,

4. use symbols and abbreviations,

5. make numbered lists,

6. draw charts/arrows, etc to show cause and effect relationship.

Pre-listening task: 

Aim:  To activate ss schemata as regards the content and to enable them to recycle and expand the vocabulary learned in the reading section.

Procedure:

1. Refer ss back to Grid 1, which they filled in in the while reding section and briefly discuss with them the meaning of prefix ‘over’ in overgrazing and overcutting and elicit from them the relationship between these two words and the increase in population, the need to feed more people from less land

2. Draw ss’ attention to the arrows in the rgid used to show cause-effect relationship and tell them to use the same method when taking notes in listening.

3. Get ss to work on the vocabulary preview task that involves making predictions about the meaning of some key vocabulary items that appear in the listening text.

I. The governments approved and implemented a new program to help people outside the cities.

a) began                              b) rejected                                c) continued

II.         The heavy rain made the roads wet, but the sun evaporated the water in no time.

a) dried                               b) hit                                         c) melted

III.
        Nowadays, the trend is wireless communication. Compared to opnly a few years ago, many more people are using it. 

a) main purpose                  b) general development            c) main effect

IV.         Fortunately, this soil is very fertile and productive Rice grows very well here.

a) barren                              b) able to grow                         c) dry and rough

V.
        The farmers used irrigation because the land was too dry and they had to bring in water. 

a) a way of delivering water to crops        b) a new kind of crop       c) a farming technique

VI.         Governments are trying to alleviate the problems caused by land becoming less productive. The problems won’t go away, but the governments can help so that people can still feed themselves.

a) eliminate                           b)  discuss                                    c) make something less bad

VII.        Next year, with the help of the loans we have received, the farm will be equipped with all new machinery.

a) closed                                b) provided                                  c) renewed

VIII.       The number of farms in the US is declining. There are fewer farms every year.

a) levelling                            b)  rising                                       c)growing

IX.          This is a global problem—it affects everyone all over the world.

a) insignificant                      b) small scale                                c) worldwide

X.            Our professor is an expert on the weather in central Africa. He has studied it for years.

a) a person  with special knowledge        b) a person who starts a company

 



c) a person who is willing to learn

XI.           The herd of goats compacted the soil by walking on it, causing a lot of damage.

a) pressed together                 b) disintegrated                          c) fertilized

Post-Listening Task:

A. Listening for  main points mentioned in a text:
Use your notes and mark the following (T) true or (F) false.

_________  1. The speaker considers loss of productive land to ba a major problem affecting people all over the world.

_________  2. Dry areas are decreasing in size, but becoming better quality in terms of productivity.

_________  3. Both overgrazing and overcutting of trees lead to depletion of the good soil as a natural resource.

_________  4. The speaker emphasizes that weather extremes, overgrazing and  overcutting are equally important factors.

_________  5. At this point, experts think nothing can be done to alleviate the problem.

B. Listening for details:  (Listening for the second time)

I. Use your notes to correct the mistakes

1. The speaker is concerned about the already existing deserts, like the Sahara, expanding.

2. New dry areas are developing in every continent.

3. As soil gets packed down, it becomes more suitable for farming.

4. As trees are cut down, they hold the soil.

5. Irrigation often washes the salt from the soil.

6. The United Nations is looking for wordwide solutions to the problem.

II.Some causes or effects are missing from the notes below. Use your notes to complete the cause-effect relationships with the ideas from the box.

	soil is compacted                              irrigation                                                people’s actions

           farmers use more fertilizer                                   overcutting trees

                                           implementing better farming techniques              few plants grow

less productive land                                                 land can’t be used for farming


         Bad news    :                                                                       
* (1)__________________                                                                                                              

                          ↓

            dry areas expand

............................................................................................................................................

      *       overgrazing


              ↓         

         (2)___________________  

                          ↓

         rain water isn’t absorbed

                          ↓

         3)________________

……………………………………………………………………………………………….

       * (4)_________________  

                          ↓


nothing holds soil


               ↓

          rain/ wind erode soil

                           ↓

         (5)_________________

………………………………………………………………………………………………

        * (6)________________

                           ↓

                land less fertile

………………………………………………………………………………………………….

      * (7)_________________

                            ↓

                salt builds up in soil

                            ↓

          (8)_________________

                    Good News                :

          UN suggests changes

                            ↓

         (9)________________

                            ↓

              protects good land

II.Work with a partner to answer the following questions using your notes.

1. What are the main reasons why the amount of good land is declining?

2. How does overgrazing lead to erosion?

3. What farming methods contribute to the problem?

4. What is being done to help people in various countries?

STEP 5. Satellite Reading 1 ‘Energy Efficient Buildings’ Reader At Work I( No 185), METU

Bülent Kandiller, Aysun Velioglu (1,5 hrs.) Appendix 6
Aim:   1.   To enable ss to further practice reading on the topic

2. To achieve transition to energy conservation and thus to relate ss with the thread ‘Public Awarenaess’.

3. To enable ss to predict vocabulary from context

4. To get ss to skim for the gist

5. To get ss to practise detailed reading

      Pre-Reading Task: SPEAKING (15-20 min.)

Establish the following cause-effect relationship and ask ss to generate ideas as to what can  be done to overcome the problem:

‘As the population increases, there is a greater need for energy, which leads to overcutting of trees (to provide fuel for heating homes and  to meet the ever-increasing need for more paper) and overexploitation of non-renewable natural resources (to provide coal and oil for heating homes). How can raising public awareness help prevent  the wasteful use of natural resources?’

While-Reading Task:

1. Get ss to read the first paragraph of the text and briefly discuss with ss the meaning of ‘politically correct’ and why energy-efficient building are considered politically correct.

2. Ask ss what the other advantages of such building are.

3. Ask ss to make predictions about what they are going to read in the following paragraphs.

4. Ask ss to skim the text to confirm or disconfirm their predictions and then to answer the following questions.

A. Mark the best chioce.

1. In para. 2, ‘prototype’ probably means __________________.

a) environmental store                                 b) high-efficiency material

c) well-designed model                               d) first model

2. In para. 4, ‘illumination’ probably means _________________.

a) capacity            b) lighting                  c) employment                 d) conditioning

3. In para. 5, ‘mahogany’ is probably ___________________.

a) a kind of plant                        b) something found on reception desks

c) a recycled product                 d)  something that may destroy rainforests

B. Mark the statements as (T) true or (F) false.

______      1. The construction of the regional government centre in Marseilles has not finished yet.

______      2. Waste produced in the Wal-Mart environmental store will be put in boxes and carried to the ships.

______      3. The air conditioning capacity of the National Audubon Society building is more than that of the buildings of its size.

______      4. According to Jan Beyea, the Audubon Society was unnecessarily concerned about little things.

C. Answer the following questions using the information given in the text.

1. What is the function of holographic films?

2. What may happen to the ‘environmental store’ if Wal-Mart decides to leave the building?

3. How will new energy taxes affect traditional Office buildings?

4. Why are air conditioners in traditional offices harmful for the environment?

5. Why is the air in some commercial buildings polluted?

STEP 6. Satellite Reading 2 ‘ A Greener World’ Reader At Work( I No. 133), METU

Bülent Kandiller, Aysun Velioglu  Appendix 7 (2 hrs.)

Pre-Reading Task: Dicto-comp.

Aim: To enable ss to perform tasks that require integration of skills. 

Procedure:

1. Get ss to listen to the spoken input for key words and main ideas. (tell them they’re not allowed to take notes during the first listening)

2. Get ss to jot down the key words and the main points they can recall after listening to the text.

3. Ask ss to listen to the text again to confirm or disconfirm the key words and main points that they have jotted down already.

4. Get ss to reconstruct the text in writing as much as possible. 

5. After they have finished their writing task, get ss to peer edit each other’s work to see whether they have come up with similar paragraphs or not.

While-Reading Task:

1. Get ss to read the text and do the following tasks.

A. What do the following refer to?

a) ‘they’ line 2, para.1 : ____________________________

b) ‘their’ line 4, para. 1 : ___________________________

c) ‘It’ line 13, para 3 : _____________________________

d) ‘them’ line 21, para 3 : __________________________

B. Mark the following statements as (T) true or (F) false according to the text.

____ 1. Girardet and Seymour wrote their book basically to raise public awareness as to what can be done to save the planet.

____ 2. Most people don’t realize that they are damaging the planet.

____ 3. The authors are of the opinion that labels on products may not always reflect the truth about their contents .

____ 4. The authors are against the complexity of modern devices.

____ 5. The authors believe there’s an overuse of chemicals in our daily lives.

____ 6. According to the authors, the future of the planet is mostly the responsibility of the governments.

C. Answer the following questions according to the text.

1. According to the authors, what are the two causes of pollution?

2.  Write the names of two groups mentioned working towards a better environment?

Post-Reading Task: SPEAKING

Ask ss to focus on the last sentence of the text: ‘We are not apart from nature, we are a part of Nature.’and ask them to comment on this idea.

                                  CULMINATING ACTIVITY     (class presentations 3hrs.)



             (first two ideas taken  from Contemporary Topics 2)

Research one of the following topics using the internet, encyclopedias, and other resources. Write a summary of your findings and present them in class.

1. ‘Desertification’ is the technical term for the process of good, productive soil becoming too dry and unproductive. Find out what the United Nations Convention to Combat Desertification is. Find out if your country has signed the convention and what is being done on this issue.

2. Find out what the United Nations food and Agricultural Program is. Then, choose a country to research. Find out what that country is doing locally to help people make beter land-management decisions.

3. Prepare a wall chart depicting how global warming affects the water cycle on earth.

4. Prepare posters of energy-efficient buildings in the world and find out what is special about these buildings. Present your posters in class.

	Appendix 1 News extracts

1                        Floods Kill 80 in Nepal
KATHMANDU, Nepal, July 20, 1999 (ENS) -- Floods and landslides have killed at least 80 people in Nepal. Millions of dollars worth of property have been lost. Forests on the Himalayan mountainsides used to absorb much of the annual summer monsoon rain, but widespread clearcutting has now allowed the water to reach unprecedented flood proportions. Fifty-five out of 75 districts of this Himalayan Kingdom were badly affected by floods and landslides triggered by the heavy downpours. Several hundred houses, thousands of hectares of rice paddy fields and dozens of bridges were also washed away.
 
2        Flood

 BEIJING, August 26, 1998: At a government news conference on the disastrous floods Tuesday, Zhao Qizheng, chief of the State Council Information Office, said the government had decided to shut down logging activities in the upper catchments of the Yangtze River as the deforestation had led to more rapid runoff of rain waters and increased silting of river and lake beds. He said all cleared areas would be replanted in a long-term strategy of ecological restoration. (The New York Times)

One year later:
Drought Evaporates Water Supply for Hong Kong, Shenzhen, Canton
 China, August 24, 1999 (ENS) -- At the same time that flood waters along the Yangtze River in central China has killed 800 and displaced millions this summer, the drying up of the East River in southern China's Guangdong Province  leading to a serious water shortage problem in the Pearl River Delta.
 
3                                Illegal Logging Rips Up Tanzanian Forests
DAR ES SALAAM, Tanzania, August 26, 1999 (ENS) -- Illegal exploitation of forests in Tanzania has reached a point of crisis. The illicit activities, some by government officials, have placed Tanzania's 33.5 million hectares (129,310 square miles) of forest and woodland increasingly at risk. An estimated 500,000 hectares (19,300 square miles) of Tanzania's pristine forests are lost annually through illegal timber trade.
 
4                                                   Amazon hatchet job
Monday, June 21, 1999, Environmental News Network: The Brazilian government is planning to effectively gut efforts to protect the Amazon, despite news that at present, the world's largest and most quickly disappearing rainforest is being cleared twice as quickly as previously thought. In response to the fiscal austerity measures imposed by the International Monetary Fund's $41 billion bailout package signed last November. Brazil is planning to zero out between 60 and 90% of its $70 million budget for conservation and environmental programs in the Amazon.
 

 


	


[image: image1.jpg]*’f"a"'"?iﬁﬁ'f::




Community development | Rural development
City farms | Organic gardening | Composting | Small farms | Biofuel | Solar box cookers
Trees, soil and water | Seeds of the world | Appropriate technology | Project vehicles

Home | What people are saying about us | About Handmade Projects 
Projects | Internet | Schools projects | Sitemap | Site Search | Donations | Contact us
© Copyright of all original material on this website is the property of Keith Addison, unless otherwise stated, and may be copied and distributed for non-commercial education purposes only as long as the source of the material is stated and a reference to the Journey to Forever website URL is included (http://journeytoforever.org/). All material is provided "as is" without guarantees or warranty of any kind, either expressed or implied

Appendix 2, Reading Text 

TURKEY AND THE FIGHT AGAINST EROSION 

by Christopher WILDIG 

1
Erosion is far more than just a problem that affects the so-called desert countries of the world. Erosion is an insidious creeping monster that these days is often called “desertification”. Although desert countries are mostly affected, processes leading to erosion and even worse, desertification, are affecting many countries around the world, including Turkey.

2
Although the broader view is that desertification and erosion are virtually the same, there is a difference. In itself, soil erosion, which can quickly lead to more deadly desertification, is a natural process, which under normal conditions is contained by the natural checks and balances found in all the environmental cycles that govern and influence all life found on our planet earth. 

3
Despite the differences in meaning, erosion and desertification, bring about the same result: massive damage on a large scale that according to current wisdom is almost impossible to repair. The basic issue involved is also the same: “humans versus the climate” as described in a UN Environment Program (UNEP) report. Although some authorities on protecting the environment have voiced some displeasure over the UNEP description of the issue, changing the wording neither changes nor erases the problem, which mainly results from overgrazing, overcultivation, poor irrigation as well as population growth and increasing socio-economic pressures. The main problem is that methods used in agriculture, industry and the destructive in-roads of urbanization are damaging fragile top soil structures faster than they can be repaired. The primary result of erosion-desertification is the destruction of the food producing capacity of dry ground. This in itself is bad enough, but the book “Greenwar- Environment and Conflict” adds this harsh note, “In the complex web of causes leading to social and political instability, bloodshed and war, environmental degradation is playing an increasing role.” 

4
Erosion-desertification is a silent stalker that sneaks up on the unwary. In many parts of the world measures to combat this silent killer of life-sustaining top soil will take decades to become effective. In the meantime, top soil is being lost by the billions of tons. In Turkey alone, according to a recent NASA report, about one billion tons of top soil containing sixty million tons of natural fertilizers, minerals and other vital elements are being lost yearly. This means that by the year 2040 Turkey could be locked in the iron grip of desertification. 

5
Because so little attention is given to erosion, few people are aware of the massive economic loss stemming from erosion. As top soil becomes depleted through abuse, misuse and eventual erosion, productivity drops and becomes in time, even more difficult and expensive to increase. Loss of this most basic and yet most important of all resources leads to severe drops in per capita income and slows national growth dramatically. Rural and agriculture based economies are thus finding it even more difficult to survive, let alone expand. 

6
Take a look at some of the negative results of increasing erosion in Turkey, and then think about what is happening on a world-wide basis. Erosion is costing Turkey more than 650 million dollars yearly, and for more than a decade, wheat production has dropped 40 percent per capita. This blow on agriculture has accelerated domestic migration which has reached such huge proportions that whole tracts of once productive countryside lie fallow and the cities are grinding to a halt with services seriously overburdened. 

7
More, the situation seems unlikely to show any improvements as overall degradation is reported to be as high as 90 percent with top soil run-off blocking reservoirs and hydroelectric power facilities. Agriculturists report that natural soil water retention capability has dropped alarmingly as soil turns to dust, bringing to mind visions of the 1930s dust storms that destroyed the plains and farm economies of the American mid-west. 

8
It was once the proud boast of Turkey that it was numbered among the few countries in the world that were self sufficient. Natural fish supplies seemed unlimited, basic food production was never a matter for serious consideration and no one ever even noticed the first dusty clouds of erosion appearing on the horizon. That has all changed. Turkey has to import a wide variety of foods as a result of changes in agrarian policy and a drop in soil food production capability. 

9
In belated efforts to solve the results of soil degradation, governments often resort to using the military solution to suppress the often violent social unrest that today increasingly stems from abuse of the environment. However, instead of trying to resolve the results of bad environmental management, surely it would be better to block the causes at source. 

10
Many countries are tackling the problem in their own way, but more than 100 countries, including Turkey, have also adopted the “UN Convention to Combat Desertification”. Another positive development is the way that more and more people, public agencies and governments are now discussing the issues. Slogans like “Man is preceded by forest, followed by desert” are indeed increasing public awareness. 

11
Environmental experts in Turkey warned some years ago that Turkey was rapidly moving towards serious losses in productive top soil. As a result, TEMA, a non-governmental organization was set up in 1992 to combat the causes leading to erosion, educate the public and apply pressure to governmental bodies to formulate workable programs and policies to improve the environment. 

12
Out in the woods and fields, TEMA works on improving rural life by trying to integrate the management of land resources, introducing land rehabilitation methods and sustainable agricultural projects together with close observation of industrial encroachments. TEMA has a whole series of reafforestation projects, rangeland rehabilitation, educational, rural integration developments and agricultural anti-erosion programmes either operating or planned for the near future. 
13
Noting the critical situation in Turkey, TEMA officials note that soil erosion in Turkey, as in so many other countries around the world, is happening a lot faster than natural processes can replace that precious few cms deep productive top soil that makes all the difference between desert and rich farmland. It is for that very reason that TEMA has set up a new deal with the GAP (Southeast Anatolian Project) administration to conserve natural resources. The GAP project is a huge--one of the world’s largest-- irrigation and hydroelectric energy schemes that is slowly but surely revitalizing the depressed southeastern regions of Turkey. Although only just beginning, the success of GAP efforts to restore the balance of nature in areas where massive construction has changed the face of the countryside, can be seen in the fresh green mantle that is covering so much of the once dusty plains of Harran, Mardin and Diyarbakir. As TEMA and the GAP Administration join forces, the fight against desertification in Turkey will swing even more in favour of real preservation of Turkey’s still rich resources. 

Appendix 3

General Grammar Practice

Fill in the blanks with the correct forms of the verbs given in parantheses.

THE CAUSES OF DEFORESTATION

The clearing of tropical forests across the Earth (1)_______________ (occur) on a large scale basis for many centuries. This process, which  (2)_______________ (know)as deforestation, involves the cutting down, burning, and damaging of forests. The loss of tropical rainforest is more profound than merely destruction of beautiful areas. If the current rate of deforestation (3)_______________ (continue), the world's rain forests will vanish within 100 years--causing unknown effects on global climate and eliminating the majority of plant and animal species on the planet. 

Deforestation occurs in many ways. Most of the clearing (4)_______________ (do)for agricultural purposes--grazing cattle, planting crops. Poor farmers chop down a small area and burn the tree trunks--a process which (5)_______________  (call) Slash and Burn agriculture. Intensive, or modern, agriculture occurs on a much larger scale, sometimes deforesting several square miles at a time. Large cattle pastures (6)_______________( replace /often) rain forest to grow beef for the world market. 

Commercial logging is another common form of deforestation: cutting trees for sale as timber or pulp. Logging can occur selectively--where only the economically valuable species (7)_______________ (cut)--or by clearcutting, where all the trees are cut. Commercial logging uses heavy machinery, such as bulldozers, road graders, and log skidders, (8)_______________ ( remove) cut down trees and build roads, which is just as damaging to a forest overall as the chainsaws are to the individual trees. 

The causes of deforestation are very complex. A competitive global economy drives the need for money in economically challenged tropical countries. At the national level, governments sell logging concessions to raise money for projects, to pay international debt, or to develop industry. For example, Brazil had an international debt of $159 billion in 1995, on which it  (9)_______________ (still/make/have to) payments each year. The logging companies seek to harvest the forest and make profit from the sales of pulp and valuable hardwoods such as mahogany. 


 Deforestation by a peasant farmer (10)_______________ (do / often) to raise crops for self-subsistence, and for  the basic human need for food. Most tropical countries are very poor by U.S. standards, and farming is a basic way of life for a large part of the population. In Brazil, for example, the average annual earnings per person is U.S. $5400, compared to $26,980 per person in the United States (World Bank, 1998). In Bolivia, which (11)_____________(hold) part of the Amazon rain forest, the average earnings per person is $800. Farmers in these countries (12)_______________ (have) the money to buy necessities and must raise crops for food and to sell. 

There are other reasons for deforestation, such as to construct towns or dams which flood large areas. Yet, these latter cases (13)_______________ (constitute) only a very small part of the total deforestation.

Appendix 4

Writing

THE PROBLEM / SOLUTION ESSAY

OBJECTIVES: The aim of this handout is  

*to raise student awareness of a) the features of problem/solution discourse pattern, 


b) the conclusion part of essay writing and

*to get the students to produce
a) thesis statements, 


b) body paragraphs,


c) concluding paragraphs to problems stated. 

Although we cannot deny the magnitude and seriousness of the problems facing us today, as humans we have the understanding, the common sense, the energy and the will to solve them. Certainly, one aspect of solving both  the  world’s  and  our  own   personal problems is to look at them carefully, analyze them before we draw conclusions on their impact and suggest solutions, evaluating all possible aspects of the complex issues.

When compared with other types of essays, a problem/solution essay has a different organization. Since such essays are considered to be explanatory and persuasive, you must carefully plan and supply sufficient evidence to prove to your reader that your opinion on the problammatic issue is valid, that is your opinion is worthwhile and should be considered. These essays motivate readers to become involved in solving a problem so in this particular organization, you must first state the problem clearly in the introductory paragraph so that the reader will understand and accept the fact that a problem on that certain issue exists. Often you also need to say what will happen if the problem is not solved.

Practice 1

With a partner, make a list of the most serious global problems that need the world’s immediate attention today, considering social, economic, environmental and political issues.

1.
Overpopulation

2.
Shortage of natural resources

3.
Unemployment and poverty

4.
Extinction of species

5.
Growing Epidemics

6.
High Inflation rates

When you are finished, compare your list that of  another pair. Revise your list as desired (if necessary) and write the revised forms next to the former ones.

The next step is to consider what solutions for change that your audience will find acceptable and how best you can persuade the audience to accept the solution(s). These answers you suggest in the mitigation of the ills should be feasible, reliable and hence applicable. As a writer, you can always take your stand on one of the solutions to be more persuasive. However, academic writing, in which you could describe the problem of overpopulation and offer several solutions or analyze the problem of unemployment and suggest some ways to solve it, could be simply informative and/or explanatory. In that case, all solutions will be of equal importance and thus you will not need to take a stand. 

Practice 2

Now, with your partner, think of at least two solutions to some of the problems on your revised list and compare them with those of your classmates.
1.
a)
__________________________________________________

b)
__________________________________________________

c)
__________________________________________________

2.
a)
__________________________________________________

b) __________________________________________________

c) __________________________________________________

3.
a)
__________________________________________________

b) __________________________________________________

c) __________________________________________________

While suggesting possible solutions, you discuss one solution in each paragraph explaining positive and negative aspects i.e. advantages and disadvantages of each, providing details to explain them. If you take a stand on one of these solutions, you keep it to the last and thus you should elaborate more on the advantages and not overstate the disadvantages (if there are any). Neither should you disregard them (if there are any). Although it is best to save the solution you favour to the end (using the ascending order), the opposite is also possible (using the descending order). However, in the case of not taking a stand, you can organize the solutions in order of importance or of equal importance.

Practice 3

Now that you have resolved on the solutions, put them in order of importance keeping the best (the one you take a stand on) to the end by numbering them from 3 to 1, (1 being your choice of the solutions).

Practice 4

Now, considering your order of importance, write some advantages and disadvantages for each solution you have stated. 

1.
Advantages:
______________________________________________________


Disadvantages:
______________________________________________________

2.
Advantages:
______________________________________________________


Disadvantages:
______________________________________________________

Below are some basic hints you need to keep in mind while writing persuasive essays.

A. State the problem.

B. Define, explain, clarify and illustrate the problem so that you can convince the reader that such a problemmatic issue exists.

C. Present possible solutions to  the problem

D.
Evaluate the problem (i.e. discuss the strong and weak points of the solutions. Support your solutions with evidence: facts, examples
E.
Recommend the best solution to the problem.
Essay Plan for Problem/Solution

Introduction:
1.
Provide background information about the problem.

2. Describe the problem and state why it requires a solution.

3. Identify possible solutions.

Body Paras.
1.
Discuss one solution in each body paragraph.

2.
Explain the positive and negative aspects of each solution.

3.
Provide details to explain each solution.

4.
Organize the paragraphs according to order of importance.

Conclusion:
1.
Summarize the solutions.


2.
Draw a conclusion or make a prediction based on your suggestions.

Read the following essay and answer the questions that follow to better understand the basics of problem solving.

THE ENERGY SQUEEZE

Man employs technology to meet his enormous needs or to maintain his standard of living and today’s high technology uses so much energy that soon all our resources will be exhausted. Without energy, industrial production will fall, agricultural output will drop, transport will be restricted and standards of living will plummet. In other words, the world will be on the verge of an energy crisis very soon unless certain measures are taken. The two most commonly proposed solutions to this world-wide problem are reducing energy waste and developing infinite, cheap and convenient energy.

The first solution, reducing the amount of energy waste, is possible to do in a variety of ways. The efficiency of appliances and vehicles, and our efforts towords conservation can be improved. The leading countries have already started employing higher technology in utility industries only to make appliances and vehicles more efficient. In addition, environmental groups have raised awareness to human-induced changes on our planet in an effort to conserve and recycle resources. Leading countries today are more cautious when compared with the roaring 1980s and 1990s. Germany’s dismantling of old coal plants and Britain’s move to natural gas are good cases in point. Today, many people, if not the majority, have acknowledged the effects of worldwide competition that might spin out over the coming decades. Also, people can be encouraged to use more public transportation, bicycle and simply to walk or to get the habit of recycling, all of which would certainly mean more energy saved. Unfortunately, such efficiency and conservation methods are only temporary solutions and are not complete answers to what will happen when fossil fuels have run out. Besides, every new technology requires such vast amounts of energy that overall consumption continues to rise. In addition, not all nations are aware of any recycling or efficiency methods. Nor do they have the technology to realize them.
The second and a better solution is using an infinite, cheap and convenient alternative energy. This is what scientists have been working on for years. Such sources as solar energy, wind power or wave power have proved insufficient or inefficient, so nuclear power remains to be the sole energy to double today’s energy output, and to meet the world’s growing energy requirement, replacing scarce fossil fuels. Small amounts of nuclear fuel bring about large amounts of nuclear energy. For example, it is possible to obtain 3 weeks’ of electricity for a city with a population of 1000, using 20 tonnes of nuclear fuel, whereas 120.000 tonnes of coal or 85 tonnes of oil are necessary to generate the same amount of energy. It’s also more attractive in that we have already developed to exploit the energy stored in the atom, which means we don’t have to spend years and money for experimental stages. Unfortunately, nuclear plants where nuclear energy is produced pose risks to the environment and people. Still, the advantages of nuclear energy outnumber its disadvantages, because not only are nuclear plants economical but also they have the existing technology and are an efficient alternative to our finite sources.

In short, since power demand is increasing while our sources have been decreasing steadily, it is essential that a permanent and efficient solution be found to maintain our standard of living. Reducing energy could be a possible solution but it can only extend the life of fossil fuels, which will inevitably run out in a relatively short period of time, and the short-term economically motivated decisions often have undesirable long-term effects. Therefore, it is necessary to exploit the energy stored in the atom and build nuclear plants. The energy produced is infinite, cheap and convenient. If we neglect the problem or do not take it seriously, man will once again be living the dark ages of his kind.
1.
What problem does the writer introduce in the first paragraph?


The problem that all our resources will be exhausted soon. (The possibility of energy shortage)
2.
What information did the writer provide in the introduction to convince the reader that the problem needs to be solved?


The problems that could / will arise in the case of energy shortage.
3.
What is the thesis statement of the essay?


The two most commonly proposed solutions to this world-wide problem are reducing energy waste and developing infinite, cheap and convenient energy.

a) Is the thesis statement open or closed?

Open

b) What is the controlling idea?

solutions

4.
What solutions does the writer propose?


Reducing energy waste / developing infinite, cheap and convenient energy.
5.
How are the body paragraphs arranged?

In order of importance (in ascending order)

a)
Does the writer indicate that he takes a stand on one of the solutions? If so, how does he signal it?

Yes. By using ‘better’ in the topic sentence, he indicates that his choice of the two solutions is the second one.

6.
What positive and negative aspects of the first solution does the writer mention?


Positive aspects: Some utility industries have become more efficient/Environmental groups have raised awareness to the conservation and recycling processes/more energy will be saved.


Negative aspects: More efficiency means more energy/Neither are the majority of nations aware of recycling or conservation methods nor do they have the technology/It’s a temporary solution and isn’t a complete answer to the problem.

7.
What positive and negative aspects of the second solution does the writer mention?


Positive aspects: Large amounts of energy will be obtained from small amounts of fuel / convenient, cheap and infinite/It’s a known technology, which will help us save time.


Negative aspects: Nuclear plants are hazardous to the environment and people.

8.
What examples does the writer use? What do they exemplify?


In the first body paragraph, the examples of Germany of Britain exemplify the fact that today leading countries are more cautious towards resources. In the second body paragraph, the example of nuclear fuel exemplifies the potential of its energy.

9.
Which word(s) does the writer use to signal his move to a contrasting idea in each paragraph?


Unfortunately

10.
Does the writer use any markers of comparison/contrast? Underline them in the text.

11.
How does the writer propose a better solution?


By emphasizing the pros of the solution and not putting emphasis on the negative aspect.

Practice 5
Now that you have analyzed a sample essay of problem solving, write thesis statements regarding the problems and the solutions you have stated on pages 1&2.

1.
___________________________________________________________________

2.
___________________________________________________________________

3.
___________________________________________________________________

* For further practice, it is possible to get the students to elaborate on the advantages and disadvantages of the solutions to the problems they have stated and write body paragraphs, considering the thesis statements they have written.

So far, we have studied have to write thesis statements and body paragraphs of three discourse patterns (cause/effect, comparison/contrast, problem/solution) and have seen examples of a variety of concluding paragraphs at recognition level. Now we will have a closer look at the conclusion.



THE CONCLUSION



The final paragraph which ties together all of the ideas expressed in the essay is the conclusion. Just as the introductory paragraph functions to open the essay discussion by introducing the topic and the thesis, so the concluding paragraph wraps up the discussion, bringing the development to a logical end. If the developmental paragraphs have done their job, that is, developed the thesis properly, then the conclusion should follow logically. What is said in this part of the essay depends entirely on what has been developed in the writing. However, there is a standard approach to writing concluding paragraphs. You should begin your conclusion with a narrow statement that connects your concluding paragraph with the rest of the essay. From this point, you begin to broaden toward your final statement. Notice that the structure of the conclusion is the opposite from the introduction. First you write the summary ofthe main points discussed in the body section of the essay very briefly or rewrite thethesis statement in different words using different wording to avoid repetition. Yo can also include a prediction, a recommendation or a solution to a problem stated in theessay depending on the topic you have discussed. This is the section you can give a strong, effective message that the reader will remember. 

Briefly, a concluding paragraph consists of 

1. A summary of the main points or a restatement of your thesis in different words.

2. A solution, or a recommendation, or a prediction based on the information you have provided.

√
Be sure never to bring up a new topic in this final paragraph of the essay and to introduce the concluding paragraph with a conclusion transition signal.  

Here are the most common signals to introduce a summary or a conclusion.

	Therefore,

To summarize,

In summary,

To conclude,

In conclusion,


	Consequently,

Finally,

Thus,

In brief/short,


Read the introductory paragraph and study the conclusion for the same essay.

TAMING THE GIANTS

Metropolitan cities are full of charm and scenic beauty, which attract disparate people to their ethnic restaurants, museums, famous theatres and scenic wonders. However, far away from being a paradise, they pose serious problems namely inadequate public transportation system, which highly contributes to congested streets, the resultant pollution and lack of reasonable housing. As a result of such problems, residents and visitors fall victim to unreliable schedules of transportation system, diseases due to pollutants and unaffordable rentals. Of a variety of solutions city officials have suggested, three are at the forefront of the law-makers; improving public transportation system, clearing the air and providing affordable housing.

........................................

In conclusion, poor public transportation, air pollution and expensive housing are three most crucial problems to be tackled immediately in metropolitan cities. Despite the complications that might arise in the implementation of the solutions to these giant problems, it is both for the residents and city officials to improve the conditions that bring them into disrepute. The cities must improve their transit systems, which will also give way to less congested roads, impose strict regulations on smoke emissions and keep rentals down to affordable levels for the existing and would-be residents. If metropolitan cities do not improve their image and solve their unfortunate problems already in the limelight, they will soon become average cities due to the lack of administrative responsibility and cooperative action and will become deserted areas.

1.
What transition signal introduces the concluding paragraph?


In conclusion

2.
Is the concluding paragraph a summary of the main points of the essay or is it a paraphrase of the thesis statement?


A paraphrase of the thesis statement

3.
Does the writer offer a suggestion, give a recommendation or make a prediction?


Offers a suggestion and makes a prediction

4.
Underline the writer’s final message for the reader.

TASK 1

Now, write concluding paragraphs for the following introduction.

MASS-MIGRATION

1.
Urbanisation has become a part of the crucial concerns of Turkey although it is an agricultural country where the population is still predominantly rural. The population of big cities is doubling every 5 to 10 years and that of many urban slums every 3 to 5 years. These major population shifts within the country affect the life cycles of cities. Such aspects of urban life as worker-employment, housing, infrastructure, transportation and most importantly culture are highly affected. The reason for this rapid growth and changes in big cities is mass-migration, as a result of which unemployment rises, generating welfare expenditure and forming a second ring housing with no infrastructure and culture deteriorates. The problem can be stated simply as what to do to stop people migrating into cities. Two major things to do to overcome, at least, to minimize the number of people moving into big cities are promoting economic growth outside the big cities and hence maximising work opportunities and providing more educational facilities for people in rural areas.

TASK 2: OPTIONAL as it is not directly related to the topic or could be used by establishing link with the thread: Public Awareness

Read the thesis statement provided and the extracts given to write the body and concluding paragraphs of the essay on traffic accidents and novice drivers.

GRAPPLING WITH ROAD WARRIORS

In Turkey, the number of road crashes in which young people are involved can be reduced by educating young drivers about the dangers of driving or by implementing strict laws. 

One way to deal with the problem of young people and road accidents is to educate young drives about driving and the risks involved not only by means of driver education programs but also by means of intensive training courses. Different from the current licensing courses in Turkey, these courses will provide learner drivers with further training which will help them to gain experience in driving. In Canada, driver education and training programs are widely accepted particularly by parents as an effective means for reducing the crash risk of young drivers. These programs use a different technique to help drivers raise risk awareness. Drivers do exercises which provide them with insights regarding their own limitations and thus they are expected to overcome problems that arise from over-confidence. They are also expected to discover if they have risk-taking characteristics. This knowledge may reduce their motivations to take risks while driving. However, studies so far carried out on the results of these programs in Canada fail to show that formally trained young drivers have a lower frequency of crashes than those who have not received such training. What’s more, these programs/courses do not devote much time to practise what has been taught in class, which is the most important part of driving. Besides, discovering oneself requires a more profound training, which cannot be simply realized in one course session, so the harsh reality is that driver training programs do not apparently reduce the crash risk of young drivers. Therefore, the validity of the solution remains doubtful.

Implementing strict laws as a second solution can be a better deterrent to young drivers involved in road accidents. In fact, there are two major laws to be strictly enforced on this issue. One is to raise the driving age. In most countries, it is 16 or 18 but if it were 20, very few young drivers under that age would be killed or injured. An older age means more experience, more maturity and more awareness to risks. Therefore, young drivers will be at much lower risk after 20 when they are kept off the roads by laws. The second and a more palatable policy that has already gained popularity in certain countries like Canada would be imposing a system called graduated licensing. It is a system for phasing in on-road driving, allowing beginners to gain their initial experience under less risky conditions. This is accomplished through a multi-stage program, during which driving is only permitted under supervision over a period of 6 months or more, followed by an intermediate stage of unsupervised driving. If laws are passed to make this system available, countries will have a very effective means to reduce the number of crashes young drivers are involved in. In fact, passing such laws has been found to considerably reduce collisions in New Zealand, Florida and Ontario. For example, there was a 24% decrease in collisions during the first year of the program and a 73% decline over the first 3 years in Canada. However, the only concern that has been expressed about graduate licensing is that teenagers might be reluctant to drive during the required time period and not start driving extensively until the time they become fully licensed. Still, considering the statistical figures on its effective implementation, we can easily see that not only such a system but also all kinds of lawfully adapted policies would be the most efficient solutions in reducing deaths and injuries on roads.

To conclude, we can say that the dangers awaiting novice drivers/young people on roads and threatening their lives can be taken under control if decisive action is taken. Education and awareness raising, like in every other issue is highly significant but leaving everything to personal initiative can never be a complete answer to this kind of a crucial problem. Therefore, governmental policies play the most important role in the decrease in the number of fatality cases of accidents on roads. In addition, statistical figures have already proved how efficient such measures could be. As long as governments are aware of the problem themselves and take strict

measures, education and training programs will also be in effect; otherwise, people will continue to lose their lives or get life-long injuries at early ages.
Para 1.

	Traffic Injury Research Foundation Bulletin

1.
Effectiveness and Role of Driver Education and Training, TIRF Report by D.R. Mayhew.

*
The formal education has given confidence to young drivers. This type of education is accepted not only by the young, who are learning to drive, but also by their parents as an affective means of reducing car accidents among young people.

*
There is a different technique used in the programs to help drivers be aware of risk factors involved in driving. Although these risk factors are cited to reduce motivations to take risks when driving, no formal research carried out in Canada has supported the efficiency of these programs.

*
The only drawback in this formal education is the fact that little time is devoted to on-road practice, which is highly essential in learning to drive.



	2.
A.F Williams (21, Student), who is now in hospital, reports:

I got my driver‘s license at the age of 18. I was the top in my driving class so my parents bought me a brand new car to celebrate my getting a driver’s license. I was very confident with myself so I never refrained myself from speeding. Even though I had narrow escapes, I was not discouraged as I was over-confident with myself, but one day, I crashed in to a van parked on the side of the road. I couldn’t stop in time as I was driving at a rather high speed and it had been raining. I now understand how over-confidence could be a risk-factor while driving.



	3.
H.M.Simpson (owner of Drive-Well Driving School in Ontario, Canada)

“I am proud to say that the main aim of our school is to make trainees be aware of risk factors and to give them insight training. The most common risk factor is the crash-risk among young drivers due to over-confidence. To this end, we give intensive training on roads unlike other courses which devote a lot of their time to in-class training. The trainees should be in the car driving in traffic. Only then is it possible for them to realize the risk factors and to discover their weaknesses, like risk-taking tendencies and to reduce such motivations. I would like to emphasize that this school uses different techniques in which drivers are given exercises. It is these exercises that make the trainees aware of their own limitations. In this way they should be able to overcome any problems that might arise from over-confidence.




Para.2

	The following statement was issued by Minister of Government Services and Lands. (June 3 2002)

“I am pleased to announce that our government intends to introduce legislation to implement a graduated drivers licence program for novice drivers. New drivers, regardless of age, are significantly over- represented in motor vehicle accidents. Teenage drivers, in particular, are involved in a disproportionately high number of crashes as compared to other age groups. Inexperience, combined with risk-taking behaviour contributes to high accident rates.

The system we will be imposing is for phasing in on-road driving. It allows the learner drivers to get initial experience under conditions which are not so risky. Being a multi-stage program, it takes a minimum of 20 months’ training. At the beginner stage, driving is only permitted under supervision over a period of 6 months or more and this is followed by the intermediate stage where the trainees drive unsupervised.

We are proud to introduce this system through a law because it’s been proved to be the most effective way to reduce the number of young people killed in road accidents. The statistical figures regarding its effectiveness have provided us with clear rationale for taking this course of action. It has been found to reduce collisions in New Zealand, Florida and Ontario. Very recently, the system has been evaluated in other countries and was associated with an impressive decline in collisions. For example, in Canada, among 16-year-old drivers, there was a 24% decrease in collisions during the first full year of the program and a 73% fall over the first three years of the program, but we are afraid that this might actually encourage teens not to drive and gain the needed experience until the time they become fully licenced. However, having seen the results of the statistics, we do not think this will prevent the program from being implemented. To reduce the number of young people killed or injured in road accidents, we are also planning to pass a law regarding driving age. We want to raise the driving age from 18 to 20 because we believe that an older age means more experience, more maturity and more awareness to risks.
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Listening Script, taken from Contemporary Topics 2 , Ellen Kisslinger,

Michael Rost, Longman




WHICH WAY WILL IT GO?

Teacher: 
The topic for today’s class is land as a resource. Land, water, trees, oil.... these are all resources, and as future environmental scientists, you need to understand how to manage these sources. As the world population increases, managing land resources will become a greater priority. Land is a limited source.

Today, I’m going to divide the lecture into two parts. First, we’ll look at some of the factors contributing to pressures on land we have, and then I want to turn to some of the ways people worldwide are trying to address land problems and meet the needs of future generations. Think of it as first the bad news, then the good news.

Let me start by saying there is less good productive land now than there was even ten years ago. By productive land I mean land that is fertile, that we can use to grow food and raise animals. Each year more and more land becomes degraded. We are losing productive land. Worldwide, new dry areas are developing and expanding. This is happening on every continent except Antarctica. I don’t mean existing deserts like the Sahara are getting bigger. I’m talking about new dry areas, areas where land has been declining in quality. You can see these areas in the map in your book. Why are these areas forming and expanding? What do you think? Theresa?

Student 1:
It’s the climate, isn’t it? The earth is getting, you know, hotter because of global warming. So, water gets evaporated and the land dries out.

Teacher: 
O.K. Marcel, do you agree?

Student 2: 
Well, yeah. It has to be the weather. What else could it be?

Teacher:
Well different reasons have been given. Some people contribute it to global warming or climate changes They say nature simply produces dry regions, like the Sahara Desert, as well as wet regions like the Amazon Rainforest.... Well, let’s think about this. Is it only the weather? Let’s see if there are other factors contributing to this trend.
Is nature, or the weather, really the problem? According to a large group of scientists, the weather isn’t the main factor. When they say people are the main problem, they mean people’s actions—how people use and manage land. Poor land management, overpopulation, poor farming techniques, too many animals, and so on, can all affect the land.

Look at the chart in your book. As you can see reasearchers have identified several ways human activities contribute the problem. The firs is overgrazing, overcutting, and farming methods. Let’s look at these one at a time.

The first is overgrazing. Good topsoil is lost or damaged because of overgrazing by farm animals. Overgrazing means the animals eat too many of the plants. There are several bad results of overgrazing. First, there aren’t enough plants left to hold the soil in place.Then, the topsoil is eroded by wind and rain; they carry it away. Second, as the animals walk around, the soil is compacted, and gets very hard. If the soil is too hard, rainwater isn’t absorbed into the soil and this causes the soil to stay dry and warm. As the soil gets drier, even fewer plants can grow. This, in turn, causes the animals to walk around more and more, in order to find enough food to eat. And, this causes the ground to get pached down even more, and get even drier, and so on. So, you can see that overgrazing can create this cycle.

Second, overcutting of trees also contributes to the loss of good land. The main problem is too many trees are cut down and not replanted. For years we have heard about how this is happening on a large scale in the Amazon Rainforest in Brazil. Trees, like land, are a resource we depend on.They’re vital to the whole environmental balance on earth. If trees are cut down and not replanted, ther’s nothing to hold the good soil. Wind and water carry the good soil away and it erodes quickly, leaving land that is dry and less productive. So, overcutting is another reason why land quality is declining.

Third, farming methods are another big factor. In some places, traditional methods that have been used for hundreds of years no longer work well. Why do they no longer work well? Partly because the population is increasing, and farmers aren’t equipped to meet these new demands, and partly because the soil is getting worn out. More people need to be fed on less land. As a result, some farmers may use tto much fertilizer on the limited land they have, or not let the land rest from year to year, causing it to become less fertile . Irrigation is a huge factor many of us don’t think about. Irrigation water often has salt in it, and when the salt buils up in the soil, the soil can no longer be used for farming. Currently, about one third of the irrigated land in the world has too much salt in it. Irrigation has taken a heavy toll on good land.

So, basically, how people use the land seems to be a big factor in the decrease of productive land than weather. Of course, weather extremes, like no rain or too much rain, can add to the problem. However, the weather is not the main reason for the problem. Some of the extremes in the weather caused by global warming can make the situation worse for people who live in these dry areas. But the weather alone is not the main issue.

The decline of the productive land is a worldwide problem. Currently, about one third of the world’s land is considered unproductive because it is too dry and damaged.

O.K, so that’s the bad news. What are countries doing to help preserve land as a resource? As experts learn more about this worldwide problem, they have tried to find ways to address it. Right now, there are several organizations, the United Nations for one, that are trying to help people. They try to help countries or communities look at their specific problems and figure out what possible changes they can make to protect their land. They talk to people about their farming methods, their animals, and how they use trees and other resources. Then, they suggest changes that might alleviate some of their problems. Farmers might try to grow genetically engineered crops that don’t hurt the soil as much, or plant new trees, or raise fewer animals, orbuild new irrigation systems that leave less salt in the soil. They look for local solutions that will look best for that country. This includes looking at what has been done traditionally and implementing modern farming methods in ways that respect the local culture. 

So, let’s review what we have covered today. I mentioned that about one third of the available land worldwide has become dry and less productive. The main reason for land degradation is people’s actions, including overgrazing by animals, overcutting of trees, and farming methods. As scientists learn more, we need to work to help countries make specific changes and for farmers to become better quipped so that they can preserve the good land that is left.

Let me just add if we look at the estimates of what the world population will be fifty years from now—about 9 billion people—it helps us see that protecting the good land that’s left needs to be a high priority. 

I’ll stop here. We’ll continue with this next class. That’s all for this afternoon.

Appendix 6

ENERGY-EFFICIENT BUILDINGS

Architects, builders, construction managers and corporate planners are beginning to realise that energy-efficient buildings are not only politically correct but they are also cheaper to operate and offer a healthier environment for workers. These advantages are being demonstrated by such structures as the Natural Resources Defense Council headquarters in New York City, the Environmental Defense Fund building in Washington, the Internationale Nederlanden Group Bank in Amsterdam and a regional government centre now under construction in Marseilles.

Even the famous Wal-Mart chain is getting in on the act. The retailer is designing an 'environmental store' in Lawrence, Kansas, that could become the prototype for all future Wal-Marts. This first model will be built mostly of wood and concrete block-materials that require 33% less energy to produce than steel, and feature an elaborate, high-efficiency lighting system enhanced by skylights that use holographic films to spread daylight evenly over the space. The store will have its own recycling centre so that shipping boxes never have to leave the site. And for the ultimate in recycling, the entire structure is designed to be converted easily to housing in the event that Wal-Mart decides to leave the building.

The motivation for going green is sometimes idealistic, sometimes materialistic and usually a little of both. There is no question that traditional office structures are environmentally wasteful and destructive. In the U.S., such buildings account for one-third of the nation's peak electricity consumption: they are costly to operate and will become even more so when new energy taxes go into effect. Furthermore, office air conditioners, together with the manufacturing processes used to make building materials, emit nearly one-quarter of all ozone-depleting chlorofluorocarbons. Of more immediate concern to workers is the miserable quality of the air they breathe. Because of their design and the synthetic materials they employ, between one-third and one-half of all commercial buildings are filled with polluted air, in some cases 100 times as polluted as the air on the other side of the windows.

As awareness of such problems grows, so does the movement to go green. The headquarters of the National Audubon Society is another example of energy-efficient buildings. It carries a little more than half the air conditioning capacity that the buildings of its size have. Furthermore, the building employs the latest lighting technology, including tiny sensors that adjust office illumination depending on

is streaming through the windows.

Another key part of Audubon's plan was to look at construction materials. For instance, subfloors were made from homasote, a recycled newspaper product; floor coverings were fabricated from recycled glass; and reception desks were built of mahogany that was harvested in a manner that does not destroy rainforests. Audubon's chief scientist, Jan Beyea says, "We did our job", and adds that the facility's overall success comes from being concerned about several hundred little things, each of which by itself seems to be rather unimportant.

Appendix 7

A GREENER WORLD

When Herbert Girardet and John Seymour decided to write Blueprint for a Green Planet, they directed their advice at people, not at governments. This is what they wrote: It is our belief that the planet will only be saved by people acting as responsible individuals. We believe that people are good. If they are shown that their actions are damaging the environment, they will try to be careful.

Unfortunately, many people believe that saving the planet should be left to governments. Yet, governments are only in power for five years and then must put themselves up for re-election.

What, then, can we all do? Here are five rules by which we might all live, part of Blueprint for a Green Planet:
1.
Be aware and responsible. Don't just believe what is 'on the label' - that was written by somebody trying to sell the stuff! Demand to know how we get things that we use and what effect this has on Nature or our planet.

2.
Be moderate. Moderate your demands on the planet. Walk instead of driving. Walking will do you good.  It will save fossil fuels, and avoid pollution.

3.
Keep things local. Avoid buying products which have been brought from far away. Transport is one of the great polluters.

4.
Keep things simple. We do not need the vast complexity of most modern devices. Consider what you really need and be content with that.

5.
Try to live less violently. The most savage violence is chemical violence. The soil, our crops and our animals are all being subjected to constant contact with poisonous chemicals. We can do without many of them.
Pressure groups, such as Friends of the Earth and Greenpeace, are splendid, but they can only exist as a result of the action taken by you and me. We are all there is and we must stop the assault on the life of our planet somehow. We are not apart from Nature, we are part of Nature.

